J/Eo % ‘ﬁ %7 ANTLINLAS FIU ( LANFIUTILUINCEN )( LA FIUT
v Tatungau )

fia: Jui: ATUUL:
4 4 6 1
-+ - = — 4+ - =
6 5 4 4
1 3 5 2
4+ I = 4+ =
8 4 3 3
13 2 4
6 6 7 5
1 4 3 7
7T 7 4
3 1 7 5
4 8 4 7
3 5 7 5
9 9 6 6
4 6 3 4
-+~ = 4+ - =
7 9 9 7
3 3 7 2
T4+ = —+ = =
8 5 4 5
2 4 3 5
Z 4 - = 4+ =
3 3 6 2
2 3 1 5
Z 4+ = —+ = =
4 9 3 3

www.snowmath.com



@ % ANTLINLAS FIU ( LANFIUTILINCEN )( LA FIUT
1 aivaneau )

fia: Jui: ATWUM
4 4 22 7 6 1 7 3
AT e N A
6 S5 15 15 4 4 4 4
1 3 7 5 2 7 1
Sp2 ! 2rZ=Lono
8 4 8 3 3 3 3
1 3 2 2 4 38 3
4222 2222222
6 6 3 7 5 35 35
1 4 5 3 7 6l 5
S AL Yl
77 7 4 28 28
3 1 7 7 5 69 13
S =2 R AR, Yot
4 8 8 4 7 28 28
3 5 8 7 5
24228 L1229
9 9 9 6 6
4 6 26 5 3 4 19
—t+—=—=1— —+ - =—
7 9 21 21 9 7 21
3 3 39 7 2 43 3
—+—-=— -t —-=—=2—
8 5 40 4 5 20 20
%+f_2 §+§—3
3 3 6 2
2 3 5 I 5
Zy222 S42=2
4 9 6 3 3

www.snowmath.com



